U Perrodie Table 18 also provided)
RULTETAl FET R LS f
.,-nm.'hu:.r
ors 1y Ml allowed

\ Number in the space 1

el e

e cadvwdat srovided m the answer

;;,,r,-' Lonr dnide -
oo re gtven on the hack of the answer sheet Follaw
Jow o b pap Fl4MRE TITR
@ [y thid
. ";"JFi-:{I'l westions | 10 60, pick one of the aa’.'i.'rml”.;"-? J :::n
g | "IJ“. r'j) () which 15 correct or ﬂflﬂsl ﬂﬁﬂfﬂ]:'.rtjn:.rl the
TR response on the answer sheet with a cross n the
e n in accordance with the Instru

.+ of the correct optio
muaher o ¢ back of the answer sheet

pive et fthe — .
versal gas constant R =834 ”; m(;ll
L-\\-.h_;mlrn Constant N, = 6,022 X 10*" mo
§ The Jiest positive oxidation state shown by a 3d transition
he ghes 2
:.:;‘.:I-.-‘;Ill = [?14—3 (3}*5 {‘ﬂ-'é [5}+?
[ ) ) -
[l onide W hich is least stable to heat among the following 15
% |” 0 (23Na O (3) CuO (HAg0 (5) ZnO
(it - T
) . r "
i\ ek of the following1s nutarcdx{n.mg agen -
M (2) W ) Fer  @Cr (S

Gy
4 The number of electrons and the number of neutrons present im
Tryge® won are, respectively.

. (2) 1l and 13

(12 and 13
b (4) 10 and 12

(3 1hand 13

{5y 42 and 1
5 [he concept of solubility product can be applied to saturated

solutions of which of the following?

(11 thghly soluble weak electrolytes

(2 Sparingly soluble weak electrolytes

(%) Springly soluble strong electrolytes
(47 Highly soluble strong clectrolytes

sparingly soluble non-clectrolytes

13

6 Wheoh one of the following statements is not true in relation 1o
Gilutne 4 0.1 mol dm? H SO, solution two-fold?
(1) Ihe [1,07] decreases (2) The [SO;] decreases
(3] The |HSO,] decreases (4) The [OH] decreases
(51 The density of the solution decreases

7 Which arrengement of the compounds given below, gives the
correct increasing order of acid strength?

4% o1 eno,~ I OH< HCOOH<CH,COOH

21 v0, 4 y—on< {y—0H< CH,COOH<HCOOH
31 Heooks € 3—0H< cH,c00H< NO,~_)—0H
4 {—-oneno, < H—0H<CH,CO0H< HCOOH

1) CH,co0< HoooH< NO,— H—0on<{ S—oH

- AU 744 g sample of a mixture of BaCl, 2H,0 (Relative molar
mass = 244) and KC| was heated to a cons. mass at 150°C. The
mass of the product was 0.708 g. The mass of KCl in the sample is
(H=1.0,0 =16.0, K=19.0, Cl=35.5)

(0500 (2)0.425g (3)0.300g (4)0.250g (5)0.150g

SCH‘ 5“’
A B C
The correct order of case of nitration of the compounds A B and
Cis

(1) A<B<C (2) A<C<B
(3) B<C<A (4) BeA<C
(5)C<B<A
. ~OH
10, Which of the following would take place when
is added to an aqueous solution of Na,CO,? A Cc
JOH
() COOH (b) COON
q is formed @: is formed
OrNa OH
(c) COONa (d) CO, is evolved
is formed
O Na
(4) (a) and (d) (5) (b) and (d)

. The partition coefTicient for the distribution of compound §
between two immiscible liquids A and B is 49. S is more solubic
in A than in B, 100cm’ of B containing 1.0 x 10” mol of § was
shaken with 100 cm’ of pure A, The percentage of 8 extracted
into A from B is,
(1% (2) 2% (3)49%  (4)98% {5)99%,

[2. The pH of 2 0.01 mol dm” solution of weak acid HA with

K=1.0 x 10 mol dm? is,
(1)3.0 (35 (3)45 (450 (5) 6.5
13. Salt X dissolves in conc. HCI forming a yellow-brown solution.

When this solution is diluted and reacted with Zn. a light green

solution is formed. The cation present in X is,

(1) Cu* (2) Ni* (3) Fe* (4)Cr (5) Fe
14. Which of the following molecules has the lowest dipole moment?

(WNO,  (2)0, (3) CO, (4) S0, (5)ClO,

15. Which of the following compounds A,B, C and D evolve
NH,(g) on heating?

A, (NH).Cr,O, B. NHCI

C. (NH,),CO, D. NH,NO,
(hHAand B (2yBandC (3)Cand D
(4)Aand D (5)Band D

16. When H,S is passed into an aqueous solution of sait X, a yellow
precipitate is formed. When an aqueous solution of X is treated
with excess Na,CO,, filtered and H,S passed into the filtrate. a
yellow precipitate is formed agamn
The cation/anion that is present definitely in the salt X is.
(1)Sn*  (2) Sb* (3) Cd* (MHCro, " (5)As0/

A ON—S—NH, B.{ ),
C. CH,CHNH, 0. cH, —{_Y—Nh,

Which of the following correctly represents the increasing order
of base strength of the compounds A,B,C and D given above?
(1) A< B=C<D (2) A<D<B<C

(3) A<C<B<D (4) A<B<D<C

(5) B=C<D=A .
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hic - \ ish 25. 25.0 cm’ of a solution of 0100 mof gy gy -
I8 Which one of the following cannot be used to distinguis 50,0 cm’ of a solution of 0.050 ma) dr:ﬂ

between O“NH: and D—OH 25°C. The Ba’ ion concentration in the "'-'Tu qu ] -

(1) Br, water {Kv of BaCO, at 25'C = B Ix10mup dl‘n"} 3\ ‘
(2) NaO solution (1) 3.3x10* mol dm” (2)9.0x¢ FiR
(3) HNO, solution (3)6.0x10*maol din”* (4)9 0x o8 i
(4) Neutral FeCl| solution (5) 5.0x 10" mol dm } g
(5) Muist blue litmus paper ) .
26. Which one of the following statements is ngy tring .
19 The solubility products of three sparingly soluble salis AB, ideal gases? _ | ; "th i
P,Qand RS, at a given iemperature, are 9.0 x 10* moPdm®, (1) There are no altractive of repulsive forces betweey
LOB x 10 mol’ dm” and 1.08 x 10* mol® dm™, respectively (2) The average value of the kinetic enerpies of ol %:ﬂ:
I'he decreasing order of molar solubility of the three salts in depends only on temperature w% c
waler at that temperature is (3) Molecules move randomly in straightlines at the g -
(1) AB=P Q=R S, (4) Size of gas molecules is negligibly small cumpa%i v
{? !;B}“’SFP:Q distance between them oy |
:41 i':g::ﬁfl;:; (5) Molecular collisions are elastic -t
o et EAR 27. A, B, Cand D are metals
(i) Only A and C react with dil HCT forminge H,
200 (A) D_ H, °H, (ii) A,B and D are displaced when € is added 1o a solutigy
: (B) CH—C+ . containing ions of A, Band D.
H, CH, (ii) Bri;d{spluccd when D is added to a solution containg i ’i
of B, i
(C) CH, = CH—"CH—CH = CH, (D) CH;=CH—CH, Tho correct increasing order of reduucing ability of these meii,
(E) CH,= CH—"CH—CH, (1) B<D<A<C (2} D<A B<C
. - (3)B<D<C<A (4) A<B<D<C  °,
) ) s o (5) C<D<A<RB .
e correct increasing order of stabilityh of the carbonium ions "
car L 5) A, i :
(1 Becebenen 1D E SO biion A nass o 40, was dipped o 250 '
(2) B<E<C<D<A The m‘ass ﬂf'Ih::- dl:]msh:zngm'“me ljmss ufth_c plate was
(3) B<D<E<C<A (4) A<B<C<D<E uis Fe - 56, Cu=64)

{3) E<D<C<B<A ”3425 (2) log [E]] 14p {4) Rg (3) le

21. A, B and C are three cations. They react separately 29. Which onc of the following statements about the ompoung

(1) with H,S, forming precipitates in aqueous solution. I CH,
(11} with NH OH forming precipitates soluble in excess of are N
reagent. ‘ SESE Q_ T NH i not true?
A, B, Care, H H
(1) Zo¥, Cu*, Ba® (2) Zn®, Cu™, Ni* (1) 1tis soluble in dil. HCI ,
(3) Cu™, AP, Ni¥ (4) Zn, Ni**, Al* (2) It has four optical 1somers.
(5) Cr, Ni*, Cu™ (3) It reacts with ethanoy! chloride to form an amide
(4) It reacts with hot alkaline KMnO, to form benzoic agig .
22 The arrangement of electron pairs around Sb atom in SbF s, (5) It forms a diazoinum salt with HNO, ‘
(1) octahedral (2) square pyramidal : .
(3) tigonal bipy ramidal {4) square planar 30. Which one of the following is not used tor dehydration W
{5) pentagonal pyramidal (1) H,PO, (2) H.SO .
) : (3) ALO (4) PO,
3 271 17
23. | mol of an organic compound X required 2 mol of O, for (5) alcoholic KOH

complete combustion, and produced 2 mol of CO, and 2 mol of
H.O as the only products

The molecular formula of X is 31 Which one of the following compounds on heating will prid
(1) CH, (2) CH, (3) C;H,0 an oXide of nitrogen as one of the product? '
) cho (5) CH,0, (1) (NH,),CO, (2) NHNO.
(3) NH,NO, (4) (NH,) Cr,0,
24. Which one of the following reactions would produce a product (5) (NH,),S0, -
with an asymmetric carbon atom?
. NaBH 11,0 32 Consider the following -
(1) CH,CHO (a) liquid methane
(2) CH,CHO __Zn(Hig) (b} a mixture of water and methano
conc HCT (€) an aqueous solution of LiC| Wl o4
(3) CH,CHO  AgNO_NH,OH (d) a solution of I, in methanol R ds
—_— Y
() CH.CHO HEN The correct sequence that gives the mereasing slrcngﬁ‘w
) _— molecular forces in the above is, '
CH_ MgBr
(5) CH,CHO __I-I_'gl' — (1) a<d<b<e (2) a<d<c<b '
: " (3) a<h=d<c (4) a<c<h<d -~
(5) a<b<c<d L
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following eannot be used 10 distinguish

1% Which one of the
between O-NH, and G—OH

i 1) Br, water

(2) NaQH solution

{3) HND, solution

t4) Neutral FeCl, solulivn
(5) Moist blue litmus paper

19 The solubility products of three sparingly soluble salts AB.
P,Qand RS, ata given lemperature, are 9.0 10 mol'dm®.
1.08 x 10+ mol’ dm and 1.08 x 10 mol® dm™, respectively

The decreasing order of molar solubility of the three galts in
water al thal lemperalure 18

(1) AB>P,Q>R,S,

(2) AB=R;S>P,Q

(3) P,Q>RS>AB

(4) P,Q=AB>R.S,

(5) RS>P,Q>AB

°H,
(1) CH,-J.‘:

CH,
(D) CH,= CH—CH,

20 (A) O_i

(C) CH, = CH—"CH—CH = CH,

"I,
H,

(E)CH= CH—"CH—CH,
rrect increasing order of stabilityh of the carbon jum ions

Theco
#.C. Dand E is,

{carbo-cations) A,
(1) B=C=D<E<A
{2) B<E<C<D<A
(3) B<D=E<C<A
(5) E<D<C<B-A

(4) A<B<C<D<E

31. A, B and C are three cations. They react separatcly
(i) with H,S, forming precipitates in aqueous solution.
(i) with Nl’-{.OH forming precipitates soluble in excess of are
reagent
A.B, Care,
(1) Zn*", Cu®", Ba™
(3) Cu, AP, Niv’
(5) Cr. Nit, Cu™

(2) Zn*, Cu®, Ni**
(4) Zn®*, Ni*, A"

on pairs around Sb atom in SbF s,
(2) square p}frarnidnl
{4} square planar

22 The arrangement of electr
{1) octahedral
{3} trigonal bipy ramidal
(5) pentagonal pyramidal

23, 1 mol of an organic compound X required 2 mol of O, for
complete combustion. and produced 2 mol of CO, and 2 mol of

H.O as the only products

The molecular formula of X 15

(1) CH, (2) CH,
(4) CH,0 (5) CH.0,

(3) C,H,0

24 Which one of the following reactions would produce a product

with an asymmetric carbon atom?

(1) CH,CHO NaBH H,0

In(Hg)

{2) CHCHO —— .
cone HCI

{3) CH,CHO  AgNO, NH,OH

HCN

CH, MgBr
o

(4) CH,CHO
(5) CH,CHO

25 25.0 cm’ of 0 solution of 0.100 mol dm! 3 _
50.0cm’ of 8 colution of 0.050 mol dm?” N )
25°C. The Bat* fon concentration in the 'C!l:lﬂ%.m?‘t ly
!

(K of BaCO, at 25°C = B 1x107 mol’ dims)

{I:ll}xll}“ mol dm”’ (2)9.01 ‘t', .

[Ejfm,ﬂxm'multlm"
[ ing SHAIEMCNTs 15 008 trug pgee = :

B

(§)5.0x107 mol dm”

26, Which on¢ of the tol
ideal gases?
(1) Thereare

(2) Theaverd
depends only 0N le

(3 Molecules move randomly

(4) Size of gas molecules 1S negligibly srall "“"‘Fﬂmdﬁ&'i
distance between them o

(3) Malecular collisions arc clastic -

fio attractive of repulsive Forees between ma .
ge vilue of the kinetic encrigies of "‘“1;?‘?&
mperalure ) -
in straightlines at the sypjgg

%

o ——

27. A, B, Cand D are metals -
(i) Only A and C react with dil HCI forming i, !
(i) A,Band D ar¢ displaced when C is added 10 a solutigh
containing tons of A Band D . i
(i) Bisdisplaced when D is added toa solution containingly |

ol B. .
The correct increasing order of reducing ability of these metalgy,
(1) B<D<A<C (1 DA BC
(3) B=D=C<A (4 A=B<L

(5) C<D<A<B

éﬁ“;’""_-“ :

28, An iron plate with a mass of 40 g was dipped into 230 €m
FUSU. solution. After a certain time mass of the plate wis
I'he mass of the deposited Cu is Fe = 56, Cu = 0]

(1)42g (2} 16g (3) l4g 141 8g (5) 25:
29 Which one of the following statzments about the unmm
H  CH, |
D_i_'_ t-_ \[HJ i« not true’
H

(1) s soluble in dil. HCI

{2) It has four optical 150mMers.
{3) It reacts with ethanoy! chlonde 10 form an amide
(4) It reacts with hot alkaline KMnO, to form benzoic dg.

(5) It forms a diazoinum salt with HNO,

30. Which one of the following i« not used for dehydration reagiisg|

(1) HPO, (2) 1,50, !
(3) ALO, (4) PO,
{5) alcoholic KOH

11 Which one of the following compounds on heating wil[m-
an oxide of nitrogen as one of the product” il
(1) (NH,),CO, (2) NH,NO,

(3) NH,NO, {4) (NH,) Cr.0,
(5) (NH,),S0, -

32 Consider the following
{a) liquid methane
(b) a mixture of water and methanol
(¢) an aqueous solution of LiC'l
(d) a solution of I, in methanol
The correct sequence that gives the increasing strengthofiie
molecular forces in the above is, e
(1) a<d<h<c
(3) a<be<d=<c
(3) a<h<c<d

(2) a<d<ety o F
(4} a<e<h<d -
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9. The two strong acid nre
: « (wo molecules have an 3 g :
s following do the B () Aund B DBadC (3¢ gy

i‘ el clecron €4€ (2) NO and CO (4)Bund D (5) A and D

f oo No (4) NO, and N,0 N

g NG, 40 The value of Z, is

.I' VL N, (110,02 C2)0m (3) 0.06 (4) 0.08 i5)0.10
{ - of K_[Fe(CN),Br] is.
;4 | pom 1h‘{]'.jfohmmuf¢ﬂﬂl= (1 ®  Instructions for questions No, 41 1 50:

11 sy peritacy

., rentacyanobromoferrate (1)
ALty J
I 1 pentacyanobromo ferrate 1

. - ONe or more isf gre correct. Selpg
nromopentacyanaferrate (1) the cormect responseresponses I"mmwhhu‘imm‘—"*m
it e atacyanoferrate 11 EIVEN 00 your answer sheey, mark
1, us i bromope (1 i only {a) and (b) gre correct,
(2) f' only (b) and (c) are Correct,
i - the reaction, . (3) t_Fanl}' fe) and fd) are correct,
!? _l. U === 2C(g) I il (4) ifonly (d) and () are correct,
: lar misture of Alg) and B(g) is plac inavessel a (5) if any other number or cambination of csponses |
L .:I..I-|.|rm|~r.l|‘[‘uru When 10% ol A(g) reacts with B(g), the — LOmect o o e
r e 8 Summary of hl\|
Lot kb ¥ obabove Instructions
Jooo !1| gt (3 10%  (4) 12% (5) 15% i ! -
e i1 2) (1) {4 ] .
: T Only (@ | Only Onl Any other |
oo factors and five processes are given below N pairs. and 1b) ang rrcf HEJ rzr? 0;3 rﬁ’l J:-ﬂ:nb:m:cr
% P e e given process does not correctly describe the COTTEEL | correqy, correct vorreet. | combination of
e rat factor? "
e ch s AT L | COrrect
- I1;;.,;',J.,,_{[og Process 41, W:u'ch tt:lflhc following will Rive a precipitate when added 1o a
3 [ . & ted ; 5 i '
| cnthalpy of | 2CH.OH() + 30(g) — 20C0,(g) R u:u . ous solution of CsCPy .
s tha'py 3 {a) | h[NO,}, solution {b) Ethanol
. 7 CHLOH() + 4HOR) soluti
; 2 {€) Na,CO, solution (d) KI solution
wfl_ ] .-.—:.\—l“ RCLs) | K(g) + Clig) —» KCl(s) g 42, An aqueous solution of MgSO, has a concentration of
et = __1:':‘1m'r:- of | Hig)+ e — H- (g) :].l}{lin}nl dm. Which of the following statements is/are trye
mP - regarding this solution?
[hodizen (a} The MgS0 concentration of this solution js 24
| —— : = . | ' . : 1on 15 24.0 ppm
-l‘1|“-'- wrovscation enthalpy | Mp(g) - Mg™(g) +e (b) The SO* concentration of this solution is 96,0 ppm.
st : — e} The I"'--lgSDl toncentration of this solution is 12000 ppm
‘3.";:.'_ 1 cothalpy of for- | NH(®) + H'(@ = NH', () (d) The Mg* concentration of this solution is 2.4 ppm
ot SR M ppm = | mg dm?; Meg=240,%= 32.0. 0= 160)
¥ [he.orectincreasing order of the first ionization energy of the 43 NaNQ,| solution
ceneris N Mg K. N, Pand F is ‘
(1 & Nu=Mg=N<P<F (2) K<Na<Mg<P<N<F Ags Cu
VoA e PeMg<N<F (4) Na<Mg<K<N<P<F

S0 ke Npe NePef

AgNO,

38 which one of the following statements is not true? (1.0 mol dm?) %=

Cu(NO,),
(10 Radius of HTion 1s larger than that of He atom

(1.0 mol dm-)
I - o N et
121 He has the highest 17 jonization energy of all elements C':l.-..(::t];i Cu N‘E +0.34v
vt does not show positive oxidation states, REMITE — o Ag(s)E= «0.80v
(il -e =+ O%(g) 1s an endothermic process

. : Consider the above cell a1 25'C Which of the following
4 1o} ok o I . . y
121 vag) shows metallic properties statements isfare true when a current is drawn from the cell”

#The following data/information applies to questions No. 39 and 40 a) * The cell potential remains constant at 0.46 v,

. N , b (b} The cell cathode is Cu and the anode is Ag.

Fuws ,.. anehasie acid solutions .-\.B,l_l and D ulrrln':l..\t:d riog,uhn (c) _ Positive ions move to the catho de compartment and
L dieted n the table given below to form solution negative ions move to the anode compartment
A soiution ] Concentration/ mo! dm™ Volume mixed ‘em? iy Electrons move ['rpm Cu electrode 10 the Ag electrode. 1n
T 007 500.0 the external circuit,

! ‘ 0.06 1000.0 44. Assolution X has been prepared by mixing 50.0 ey’ of 0,10 mol dm”’

, : 0.12 1000.0 solution of NH,OH and 50.0 cm’ of 0.10 mol dm” solution of
| D 0.05 500.0 NH,Cl- Which of the following statements is/are true about this

= solution X7

Pwo ol the four 3cids are strong acids. the other two are weak ;::} It has a NH; concentration of .10 mol dm?™
&nds with equal dissociation constants. A few drops of the two {b) Ithas a OH’ concentration of 0 10 mol dm’
Mdicators methyl orange and phenolphthalein, were added (¢) Its pH is greater than 77
parately 1o two 30.0 em? portions of solution R which when td) It has buffer properties
litrated with Z mol dm™? Nn{_]” solution. gave end ponis at :
RN Cm

A0 0 em’ respectively
-_—
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» Instructions for questions No, 51 ¢,
In questions No. 5110 60, two statemepy .
of each question are
From the Table given below, sclect the ey 3
responses (1), (2), (3), (4) and (5} that hegy P,
ctatements given for each of the questions yng gyl .

15 Which of the following can be used to distinguish between

AsO! and SO
(a) H,S gas
{c) acidified kMnl,

(b) dil 1,50, .

(d) litmus paper

re truc?

Which of the following statements 15/a

46 : ' «our answer sheet Mk,
{a) Posilive rays are formed when an electron 15 removed [rom ately on your an: : 1 o
an atom or molecule in a cathode ray tube. —— ﬁ\ S KT
. Girst Statement v,
{b) Cathode rays originate from the cathode. |Response | First State _ Second , 4
(c) Positive rays originate from the anode. o (1 True lruc. and Comeclly gemmae. | fe
(d) Cathede rays are a type of electromagnetic radiation. first suatement v Q .
: & —-—-—'—‘{2} True Frue, but dm:m 1 PA
47 " statement  comectly, K u
heeeeee——"" " ) L]
(I, CH, CH,—C—H ————>Cli1, CH, CH, CH, OH () True e Ny
A B e N
(4} False rue . 1
r i 1 (5) False False \\_{ #lN-
CH, CH, CH,—= C = N—&{}—No, CH, CH, CH, CH, Br L .t
) NO, First Statement Second Statement T
p ) 51 [n steam distillation of an | The vapour pr re
'hi 1 T TS . | In steam dli: . 1€ vapour pressure g
;-E'I_luch‘nl_lllw I'ullu-nl\. Tg statements is/are true about the reaction essential oil, the mixture essential oil 15 proponig
lc cme given a_bm—.; P always boils at a tempera- its mole fraction in the migg,'
(a) A reacts with 2,4 - dinitrophenylhydrazine 1o give C. wre below the boiling :
(b) Both LiAIH, and NaBH, can be used to convert A to B, point of pure water. ; £
() Reaction of B with KBr gives D, . s &) A
{d) C and D are water soluble. 52.| An aqueous solution of Both Ag® and S
Ag' and an aqueous precipitates  with NHA& 2
, ) . ; Pl .| which dissolve i excess of 1
18, Which of the foll . - solution of Zn* can be| W il
owing statements regarding the molecule. distinguished by using an reagent. i
cu,*cu : CHC = CH NH,OH solution. ‘
P o9 ! 53.| The solubility of a lnlcrr;lclﬂlfuiar ﬁﬁlrt;j““*:“' 4l
o _ . in a| @ non-polar molceutc AT
is‘are true? npg:]ﬂl? ;];ﬁc:ﬁ:tﬁ:ﬁf "™ 1 polarmolecule arc wedly
(a) All carbon atoms of this molecule lie in the same plane. Fﬂml‘lg'_-‘d q‘“ dipole- dj
(b) All C-H bonds of the malecule arz equal in length. mtera- '0“_"
(¢) The carbon - carbon bond lengths increase in the order 54| The solubility of any | Sulphide ion concentratiggg
s<q<p<r sulphide decreases when HQ}E‘E?U‘-‘ medium decreaseg
{d) Three carbon atoms of this molecule are lincarly arranged. the medium is acidified acERae _
; P ) . . 55.| CsCl(s) does not conduet | €S and Cl atoms in Cglfd
4% Which of the following statements is/are correct regarding the s electricity but an agueous form Cs™ and Cl ions s
and p block elements in the periodic table? solution of CsCl does. dissolved in water.
(2) The acidic character of oxides in a given period increascs - . _ .
from left to right/ . 56.| Alkali metals react w ith | Alkali metals replace hyfigs
(b) The covalent character of oxides in a given period increascs w::!cr_ forming - basic | from water '
from left o right i '
(¢) The basic character of oxides decreases down & group. 57.| Calcium carbide evolves C ﬂlcnulm carbide con
(d) The ionic character of oxides decrease down a group. acetylene when reacted | acetylide fon (C=Cp
with water. i _
i CH .5 - b . o
. L 1 5% | A solition containing an a | In an @ amino acid a
su Citral. CH,—C=CH—C H, —CH,—C=CH —CHO amino acid cannot function | group and an -NH, gmnn
is a natural product? as a buffer solution. tached (o the same carbon
Lok
Which of the foi!ouilmg statements about citral is/are truc? 59.] Each bond angle in the o a4
(a) It shows optical activity. molecule. -py The ‘-f"b“';‘ atom in w
(b} It reacts with ammoniacal silver nitrate fo give asilver mirfor. : ' | ecule is sp* hybridised,
(¢) Itshows geometric isomerism. . C.
(d) Itis completely miscible with water. 7™
Cl | _
_ Br .
is equal to 109.6"
60.| Phenolphthalein is  not | Any ndicator can be used:
used as an indicator for | acid - base titration as ipagx
weak acid - strong basc there is a rapid changeds
titrations as the observed near { he equivalence poik
cnd'pmm is lower than the '
equivalence point. g
e
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